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PHYSICS

If during circular motion, tangential Velocity of a body becomes double, the,

centripetal force becomes:
A. Double

B. One half

C. Four times

D. One fourth
Under what condition an object will have zero displacement but non ze

dista _
Afs 'L‘:,:fez, - B & D, both options are correct
B. Circular motion
C. Random motion

D. Oscillation
following propel'ﬁes is not exhibited by the longitudinal waves?

Which one of the
A. Interference
B. Reflection
C: Diffraction

D. Polarization
The speed of sound in air is 332 m/s. The speed of sound at 22 °C will be:
A, 3452 m/s

B. 340m/s
C. 350m/s
D. 330m/s
Astronomers calculate speed of distant stars and galaxies using which of the
following phenomena? Not in STB
A. Beals
B interference
C. Super position principle
D. Doppler effect
In a ripple tank, 40 waves pass through a certain point in 1 second. If th
wavelength of the wave is § cm, then speed of the wave is:
A 0.5ms?
B. 1ms?
C. 1.5ms”!
D. 2ms’
converted to the

In which process the entire of heat supplied to the gas is

internal energy of the gas?
A. Isochoric process

B. Isabaric process

C. Isothermal process

D. Adiabatic process

The intern

A Decrezlszgergy of a system during an isothermal process:
B. Increases

C. Become zerp

D.  Remain constany
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10.

1.

12.

13.

14.

15.

16.

17.

If the potential at “G"J?: :,.b vu/u,“ o= on tho potonllm (L)
a point which js zlahbolm Wi ”-g\ ' ol8 qvolt, 1P
A 2v rom yhy Sh iy a chard
1 ® 8an. I from 2 ho:
B. 1v Mo eparao Wil
C. 0S5v arg
D. 3v
The values of electrie prosonc" of dieloctric
medium: '"t"“sit duo ! the
A' lncrease y Will __/
B. Increase exponens:
C. Decrease Entially
D. Remain same
The slope of distance
B. Positive Notin STB M will alway®

C. Zero
D. Maximum

At what angle of proiaes: e becomes half of its
maximum value? Projection of , projectile the rang
A. 15°

B. 20°
C. 30°
D. 40°
If we dro i i - Ilin time ‘t'?
e tzp an object, its initial velocity is zero. How far will it fa
B. 49¢
C. 04912
D. 98¢
The newton-second is unit of:
G S C & D, both options are correct
. Power
C. Impulse
D. Momentum

A 1.75 m heighted weight-lifter raises weights with a mass of 50 kg to a height of
0.5m above his head. How much work is being done by him? (g=10ms-?)
A. 21254

B 25004 CORRECT OPTION IS 1125 J, WHICH IS NOT GIVEN

C. 504 However, D options is closest to correct option, so it must be
D. 1225J considered right.

- llic bob at mean pg iti
What is the speed of 2.0 Kg meta " Position of a simple pendulum,
when released from its extreme position 0.5m high? (9=10ms-?)

A. 316 ms?
B. 10ms"
C. 100 ms™!
D. 50 ms™

i alvedo b w
When the speed of your ¢ar is h ¥ What factor does its kinetic energy
decreases?

A 112
B. 1/4
C. 1/8
D. 16
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18.

19.

20.

21.

23.

24.

25.

26.

rcc'u AN T T TTwmIV@aUVY JUTLWE T

ch one of the following fo

whi
ruclmnill force
Gr.'wllnllmml forco

[ lecinc force

‘g' 4 d roce
or¢ a
a y. Supposo. by sSomo process the L |

g Elastic sprY 2
js on
The earth ;;’"“,::f .;",;3;:: is 0'3{,::;' as large as at present, then how long ,
ﬁ:ﬂ:" t:ltl? {ake to complete e |
A 3; gg:::: SI_?_'lIJ;' OF PMC SYLLABUS..
MCQ IS FROM GEO-STATIO
& & Hours NARY OBJECTS WHICH
o 12 Hours NOTINCLUDED IN PMC PROPOSED SYLLABUS) ®
{ radian is equal to:
A 571
B 572
c 573°
D 574°
d station, power losses are minimized by:

In transmission f"°": gri
urren :
A Increasngc B & D both options are correct

B Decreasing current
C Increasing resistance
D Increasing voltage

The domestic glectrici
A 150 Hz .
B 100 Hz Notin PMC syllabus
C 50Hz Not in PTB

D 25Hz

ty supply has a frequency of:
Not in STB

PIV ds for: i
‘s??sl:wi ;: orse voltage  NOtin PTB & PMC syllabus

A
B Power inlegrated voltage Notin STB
C Peak inverse vollage
D Peak integrated voltage
In full wave rectification, the diodes are used:
A 1 _
B 2 Ir] KPK book there are 2 diodes while in PTB there are 4
c 3 diodes
D 4
The wavel
A ev:su;3 ength associated with an electron is of the order of:
le light Not i
B X-rays otin STB
C Radio waves
D infrared
Which photon carries
A Blue the Most enemy?
B Violet
C Red

D Green
067
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28.

34.

35.

U L el eyt L L | —
:' 'Balmef series “in Crig lmwwuv-
8 pascher series S lieg jn the
¢. Lyman series
D Brackel series
he main difference be
Frequency fween x fays and Y r3Y° is
wave length sand Y
~ Energy
p Origin
e number
There are initially 400 atomg ; ple- what would be th
of atoms after 3 half-life? N a ragioactive 53
400
g 200
c. 50
D. 25

is treated with _ —

While using radiation roid
radioisotope: the'apy. canceroys thy

A. Carbon

B. ?2*uranium

C. Thorium

D. lodine-131

In capacitors, energy is stored in the form of:
A Gravitational energy

B. Kinetic energy

C. Electric intensity

D. Magnetic induction

Ohm time's farad is equivalent to:

A. Time

B. Charge
C. Distance
D. Capacitor

One kilowatt-hour is commonly termed as one commercial unit of electric energy

which is equal to :

A. 36x10%j

B 36x10%]

C. 3.6x10%]

D. 36x10%]j

When a wire is compressed and it's radius becomes 2R then its resistance will
be:

A 16R

B. 4R

C. 1/16R

D 1/4R

. ice:
One of the following is an ohmi¢ .dcw
notin STB

Filament bulb
Semiconductor diode
Transistor

Copper wire

com»
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T e below geg

e —
hange in resistanc® =
s6. Thechand NotinPTB NetinSTB
curve
men" - o
C yrviline h o |
" l¢:urr¢mt are flowing i;’f"’ug ong Parallel Wires j
when em IS- ns
37. elccll’lc ﬁcld botwcon th dMme di'ng
Strong »
Weak
C Remains same
D. Infinite on angle betwce
X w nm -
4g. Magnetic flux is maximum agnetic field and G
A. 0° or area R
' B. 90°
; c. 180°
D. 45° o
5 or
. 19, Transformer is a devic® which steP Steps down the input:
- A current  Notin NBF
, B. Voltage
7 C. Energy
‘ D. Power
- d near a :
40. If a stationary bar magnet is place coil at rest so : ;
passes through the coil, the galvanometer shows: maximum lines of forc:
A. Maximum current
B. Minimum current
C. No current
D. Intermediate value of current
_ CHEMISTRY
41. Alkyl Halides involving -C-X bond break
a
:imtgtaneously would follow the mechanism: ge and —~C-Nu' bond ‘formation
. N1
B. Swz
C. E
D Ez
42. Secondary alkyl Halide is:
A. 0le
H— C—Cl
[
H
B. H
" |
===
J
C. CHs

CHs — o M

l
H

D. CHacCl
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47.

R-X on reaction with a'co"w vi
A R-OH i X

8 ROR Not in PTB "™s:

C R-X-OH

D RH

IVPAC name of CuH.O

A 2 J.!e'.n-,w.:a,-He.anef,iH’h ig-

B

E & -~ Dmethyl CyClohey
3-Meihy! CyTiohexan

Question is faulty, unclear and not present in PTB
2-Nethy l-3-hexan0n

o
vn-:

e

9 90

henol is known as:
Carpohc acid
Cardonvyic acid
Cartohc acd
Cartelylic acid

oWy

iheg:;sca"l‘;ar? acidic than alcohg of the following yRmsOn:

B D;-b:‘a!za;g: g‘ :igi::‘e C“a"g-:-su:e lhc:‘g: group ring Notin STB
% . ' e ol n

Cc Dv:-bca:zauon of negatjvec:‘:;‘;"—‘:"‘ the gurbon atom |

D Delocaizaton of positive Chamgc_." i ti“\:: c;‘;ggroUP

The common name of fo

llowi
Cl—CH:~CH-CHO  "8aldehyde is:
|
CHza
a —methyl -~ Y — chloro pro
picnzide

E—Chlocro-Y— methyl prcp»cna!aehyde
? — chioro — a — methy| Propicnalishyde
& —methyl — a — chlero propien

2dzhyde
Which of the following rea

oamp

enti i =
carbonyl compounds? g . S use to separate and purify carbonyl and non
A HCN Not in STB
B BrMgCH:
C NaHSO:
D H0
iecondary glcohol is the product of reduction of which carbonyl compound?
1l
CH:-—-C ——H
B O
I
CH: — C ——CHza
Cc O
Il
H—C——-H
D. O
Il
CH»>-CH: —- C ——H
. aracst acid?
Which of the following is the s!""
A Propanoic acd Not in PTB
B Flouroethanoic acid Not in STB
C  Tnchioroethanoic acid
D

Nitreathanoic acid
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B

51.

52.

53.

54.

55.

56.

58.

59.

sults in the formation of:

Hydrolysis of acyl chloride re
A Acid anhydride

B Carboxylic acid

Cc Amides

D Esters
is:
The exact reactivity order for carboxylic acid derivatives
A Anhydrnde > Acylchloride > es.ter Not in PTB
B Ester > Anhydnde> Acylchloride Not in STB
C. Amide > Acylchloride > ester
D Acylchlonde > Anhydrnde > ester

properties, proteins may pe classified into th

Based on the physico-chemical

following types:
A. Simple proteins

B Compound proteins
C Derived proteins

D All of the above

Based on function, thyroxin can be classified as:

A. Hormonal protein
B Struclural protein
C Transport protein
D. Genelic protein

L-Asparaginase enzyme has been used for the treatment of:

A. Jaundice Not i
B. Blood cancer otin STB
C. Rickets

D. Heal disease
Potassium, Rubidium, Cesium react with oxygen to form which types of oxides?

A. Peroxide
B Superoxide
C. Suboxide

D. Normal oxide

Magnesium reacts with Nitrogen to form:

A MgaN:z
B. MagsN:z
C. MagN:
D. MgN

Densities of alkali metals are low due to:
to PTB the low densities of alkali metals is due to their

A.  Weak intermolecular forces According
B. Large atomic volume weak Intermolecular Forces but according to NBF its due to larger

g f;“gf’: r5ize ) Atomic Volume. (But all groups have larger atomic Volumes as we
iguration move down the group)>>>> so this question is also faulty

In 3" series of transiti
one :
lements, paramagnetic behaviour is maximum for Mn*?

and:;

A Cr>
B Ti?¥
CcC. v
D Zn*?

05248
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63

65,

66.

nsition element wp; .
tCr: t whigy, Qo - Jalency 1s*
Sc 'y ghoW V2

fhe
A.

(B;', Zn

D. Cr

Organic co
getect the mpoungee. B
gHa= CF Not in P belong®

A
GHa—O—CH3  noti
B- GHa— NHz in STB

[): CsHs

e of jsomerism existi -
‘K‘e gJ‘:\ctional group ngina Compourld of

B. Position

C. Chain

D. Metarnensm

etric isomerism?

which of the following compounds show geom
CHa

" A‘ Not in STB
CHs

B. CHs
CHs i
H
C. H
D. i

eis?
Generic formula of cycloalkan

A' cﬂHZnoz
B' cﬂHZn
C. CnaHzna

2 O e is:

of ben®e"

Electrophile in sulphonation

A. HSO.'
B. H2SO0s
C. SOs

D. HSOx

o nl oA
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s, each Carbon has |

d A A4 4

D qr4=4 e ﬂng. it makes '-he ﬂﬂg'

S greater Kp than Kec (Ke > Kc)?

ame as that of the rate of reaction in:

*tions and the factors that affect the rates o

0624



B0.

81.

B2,

8,

Faf e reawiivrer Mg —, o
n the concentrayjg, Ay,
w:oh mcans itis: ' of ‘M;‘}'
w Negahve order rgac'mn gb“b'“ﬂ “IB
First order reaclion
53 7ero order reaclion

T E—

rate of re@

for which of the follgy,;

0 ortional to the concg

Ord tion,
% 4t grder reaction Ntray, e:e: ' th~°’? B
B ord grder reaction NotcigosnTB
C Negative order of reaction
p. Zero order of reaction
thermal energy at co
e Enthalpy PSRN pressure is called:
internal energy
Heat capacity

0'_ Work done

gorn-Haber cycle is used to deter, energies of:
Molecular solids termine the lattice

8 Metallic solids
c. lonic solids
D. Covalent solids

One calorie is equal to:

A 418 KJ

B 418J

C 0418 KJ mol’

D. 0418 KJ

The oxidation state of “S" in the {5:0:)2 is:
A +4

B. +6

c. -2

D +2

The common oxidation number cf halogens is:
A 1

B. +1

C. 2

D. O

During oxidation process: oxidation number of an element:

A. Decreases

B. Increases

C. Remains constant
D. BothA&B

. u ..
Which of the following has !""® nighest value of electronegativity ?
Al

B Br

C. o
D F

e “ 0' z‘

ction increases four folds,

rate of reaction is inversely

06248
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rpie ST Treern o -Cnaracloer/

I
d o
hybrl
g4 Which of the fallow!nd
A sp’ hybrid "'D'm‘
B spi-hybnd orbitd
c sp-hybrd u’b";illa'
D dsp -hybnd Of : imum for:
’ s
gs. The first ionization energy
A Na
B Mg
c. Al
D K —Inb
tion € express A
86. The efficiency of chcmica| f"ac ed as:
A Theoretical yeld Not in STB
B. Actual yield
C. % yeld
D Maximum yield
87. In a vessel, 10 g Nz, 10g Hz and 109 O: are present. Which one will have is;
number of atoms?
A H:
8 N:
Cc. Oz
D Both Hz & Nz
88. The empirical formula of Glucose CsH120:s is:
A  CsH.Oe
B CHO
C CH:0
D CH:O:
=0 - Zhege_":u“’“s""" between quanium number n and | is:
B I=n2
C 1=n-1
D n=1)2
80. Quantum number values for *2p'
A n=2 =1 or ‘2p' orbitals are:
B n=1,1=2
C n=11=0
D n=21=0
91. Which pairhas 1¢
lectron :
inits 's* orhital?

L1 & Fe

A
B
C
D
92 Which of the fol
B
c
D
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96.

97.

9B.

100.

101.

I, Iwr
L

According to the Gone l?‘_&
A  Pressure rai

B Temperatyre
C Molar mass g
D Al of the abo

ideal gas depends upon:
G y of a0
lauon' donsl y

f'he Qas
ve

The actual volym,

e egligible at following
pressures: of Qasg "““ecul s Is considered neglig

A. 2atm e

B. 4 aim

C. 6atm

D. 8 atm

COZ and 802 bo‘h B

e tri-
greater than that of ¢ M

t of vaporization of SO: is
. Oz due ¢ Mic molecules but d
A. High electronegativily of § °
B. Greater size of S0O:;

C. SO:zis polar

and COaig
D. SO:zis more n

n-
acidic than (:c),,polat
Which of the foll

owing has t sure at 20°C?
A. Diethyl ether he lowest vapour pres
B. Chilorcform

C. Carbon tetrachloride
D. Water

Which of the following is not a molecular solid?
A. Bromine

B. Sulphur

C. Phosphorus

D. Carbon dioxide

The Lattice energy is also called as:
A. Energy of affinity \

B. Bond energy Not in PTB
C. Crystal energy

D. Potential energy

For a gaseous phase reaction, when number of mgles of
are equal:

A. The values of Ks and K. are different
B. The value of K is greater thal l:{

C. The value of K: is greater Ihan :ame
D. The values of Ky and K. are the s

reactants and products

Purification of table salt (NaCl) by Passing HC| g4 throy
solution is an example of: Not in NBF

A. Law of mass action

B. Hess's law

C. Commen ion effecl

D Henry's law

gh its saturated aqueous

ENGLISH
is.
We prefer fruits ________sWe¢
A To
B On
C. Owver
D. From pape 13 0f 24

06248
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102

103.

104.

10S.

106.

107.

’1 08.

108.

110.

Choose the correct spelling:
A Exantuated

B Axaniuated
¢ Accenchuated
D Accenluated

Choose the correct spelling:

A Cotioned

B Cautoned

C Causchuned
D Coschuned

Choose the correct spelling:

A Ecceninc
B. Eckenlnc
C Akcaninc
D Accentric

Choose the correct spelling:

A Dafinite
B. Defanit
C. Dafanite
D Definite

The Headmaster to speak to you,
A  Wants

B Is wanlng

C. Was wanling

D Want

Choose the correct option:

Knowled
A o ge and wisdom = no time for connection.

B Have Question is not clear
C Had
D Are

Identify the errors an
i hope this letters ﬁn:acizot;.,:g the correct option:

B i best irits o
B. 1 hope this tettere o 7 you in o o o e pirits. NO option is correct
: rs finds : igh
g- I' :npe letler finds you |:?#e";::31 of your spirit.
ope lhe letler toyng YOu in tof spiits
g

Gulliver travel was
A Gullver Iray

als was wr
B Gulliver lravels was wr::en 5
C Gullivers Travels was A,

n f
Y Swift
Fill in the bl
I umb::':l‘;av:ls":,?":p'npﬂlb artic| rcqulrod.
A  The ©avaj agaj B derstorm.
B A nst a thun
C An

D No article required

e ———— Pase 14 nf 24
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I12.

113.

115.

116.

118.

119.

o
Choose the correct senten .

A w!sh | have been 3 mmco:

B. lwishlam being a mim(;bnaile

C. lwish | were a millig Naire

D.

| n

1 wish | was a m'\lli(:n'lz::r"ee
Pick the correct option:

A. No star is brighter than th
B. No star is more bright { >

C. No slar is brighter 1henhl:n the Moon,
D. No staris brighter thanp o

Moon

Maoan,

Choose the correctly str
A. Had he lived in Eng|a:§t;e'ed

. SQHIGHGB:
B. Had he lived in Englang he

would mjgs his family: -
Youlll haye missed NS family.

‘She always carried an ump
A. Presenl Simple

B. Past Simple

C. Past Perfect

D. Present Perfect

rella’. The gentence indicates

Ahmed ____ me for a long time,

A. Know

B. Have known C & D both options are correct
C. Knows

D. Knew

Pick the correct option:

His first innings consists of four 6s and three 4s,
A. His first inning's consists of four § and three 4.

B. His first innings consists of four 6's and three 4's
C. His first inning consists of four 6's and three 4's.
D. His first Inning's consist of four 65 and three 4's.

Choose the correctly punctuated sentence:

A. What a fall was there, my countrymen! Long |gve the king!
B What a fall was there! my countiymen. tong live the king|
C. What a fall was there, my countrymen. | ong live the king.
D What a fall was there, my countymen. 1ong live the King,

Choose the correct oplion:

A. He and | was playing

B. He and | were playind

C. He and | were being playnd
D. He and | was beind play/ng

Choose the correct optnon;- o
A. Every one of the pnso:-s o |
B Every one of the PrS® 0 que fu
C Every one of the pnson®.

full
1 s 1=
D Every one of 1he prisof

tense.
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120.

y 121,

122.

123.

124,

125.

126.

127.

128.

Not only the parents but also theirsSon _____ for interview.

Has called

Have called
Have been called
Has been called

cow>»

BIOLOGY

When the temperature of the surrounding rises, body responds by:
A. Vasoconstriction

B. Vasodilation

C. Shivering

D. Raising body hairs

The excretion of hypertonic urine in humans is associated best with the:
A. Glomerular capsule

B. Proximal convoluted tubule

C. Loop of Henle

D. Distal convoluted tubule

In humans, the temperature regulation control center is located in:

A. Kidneys
B. Brian

C. Lungs
D. Liver

As an excretory organ, liver:

A. Deloxifies many chemical poisons

B. Produces ammonia for excretion by the kidneys

C. Produces urea and uric acids from the nitrogen of amino acids
D. All of the above

The active uptake of sodium in the ascending limb or thick loop of Henle is
promoted by the action of:

A. Aldosterone

B Thyroxine

C. ADH

D. Cortisone

Which one of the following muscles are considered as "Voluntary Muscles"?
A. Smooth muscles

B. Cardiac muscles

C. Skeietal muscles

D. Glandular muscles

Which one of the following are “myogenic" type of muscles?
A. Glandular muscles .

B. Cardiac muscles Not in PTB

C. Skeletal muscles

D. Smooth muscles

What do we call the cell surface membrane of a muscle fibre?
Sarcolemma

Plasma membrane

Sarcoplasm

Myofibrils

comd

06248

Page 16 0f 24



Muhammad Usman Ilyas
Text Box
Not in PTB


129.

130.

132.

133.

3

135,

136.

17,

A P N

L =
M~W as neurotransmitter and

Which qof the fon n poth
h OWing noU nc“o 0
Splnephnne pefCQD“On of pjl
. erotonin :
Dopamine Not in PTB
Endorphins

b feed-back mechanism?
A Labor r:ontrzu:t..;,.-,ss Controlleq through F"’si

Body lemperalure
Insulin Production
Thyroxin release

|n21cc;|'lllebg;thehfollowing iS common to all pirenE”
Y Which contai
2 thick myelin sheath S it
resence of Node of R i
anvier
Presence of Schwann cells

:::?ur:rs are cells adapted for the rapid transmission of electrical impulses. To do
is, they h s

oﬁs ave long thin Processes called:

B. Dendrites

€. Myelin sheatn

D. Schwann cell

A is aj i t d
— Junction betwee or between a motor neuron and a
muscle cell: N two neurons

A. Impulse

B. Synapse
C. Axon
D. Cleft

B. Menstrual cycle
C. Uterine cycle
D. Embryo formation

Which of the following diseases is sexually transmitted?
A. Tuberculosis

B. AIDS

C. Dengue Fever

D. Cholera

Which of the following hormones of the pltuitary gland regulate the menstrual

cycle?
A.  Follicle Stimulating Hormone and estrogen

- trogen
; izing hormone and es inizi
g. l%z:l?c':?e St?mulating Hormone and Luteinizing hermone

D. Estrogen and progeslerone k.

i B. color blindness andiesticyy,, feminizatio mple of:
Hae?ﬂ;';g?(ﬁ);?:am trat CORRECT OPTION IS X-linked RECESEIVE
Y-linked recessive ralt \WH|CH |S NOT GIVEN IN ANY OPTION

Y-linked inheritance Notin STH
Pseudoautosomal trait

ocowo>»
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A

138.

139,

140.

141.

142.

143.

144.

145.

146.

Which traits are most likely to affect men than women?

A, Xlinked recessive
B, Xlinked dominant
C.  Autosomal dominant
D.  Autosamal recessive

alleles both have an effect on the phenotype of a '"’“""°ll!g%i

organism:

A Dominant

B. Recessive
C. Co-dominant
D. Multiple

When both the alleles of a gene pair are same, the organism is said to be:

A Heterozygous
B. Genotype

C. Homozygous
D. Phenotype

In which type of cells, cell wall is not present?

A. Plantcells

B. Fungal cells
C. Bacterial cells
D. Livercells

70S sized ribosomes are found in the cells of:

A. Algae :
B. Fungi Not in STB
C. Protozoans

D Bactena

According to the fluid mosaic model of cell membrane, which zone is embedded

inside?

A. Hydrophobic
B Hydrophilic
C Globular

D. Filamentous

The membrane separating the vacuole from cytoplasm is called:

A. Crnslae
B Cisternae

C. Tonoplast
D. Vacuolar membrane

Select the one which is not a function of Smooth Endoplasmic Reticulum (SER)?

A. Metabolism of lipids

B. Transmission of impulses
C. Transport of materials

D. Processing of glycoproteins

Which of the following organelles are involved in the synthesis of plant cell wall?
A Endoplasmic reticulum
Golgi complex

B
C Lysosomes
D Peroxiosomes

06248

Page 18 0f 24

|
i

!

———1


Muhammad Usman Ilyas
Text Box
Not in STB


M‘“’h property of water helps to mal“”m
mombrancs? i
specific heat capacity Not in STB
Hydrogen bonding
Cohesion and adhesion
p. Hydrophobic exclusion

Water act as universal solvent because of:
A Heal of vaporization .

B. Hydrogen bonding Not in PTB
C. High polarity

D. Cohesion and adhesion

pohydrates because of:
ed tO car
Lipids store double amount of energy as comp3'

A. High proportion ol Oxygen .

B. High C-O ratio Not in STB
C Low proportion of Carbon

D. High proportion of C — H

150. Which of the following is an unsaturated fatty acid?
A. Oleic acid
B Palmitic acid
C. Butync acid
D. Acealicacid

151. Mono-saccharides have a general formula NP’°5°m°d by:
A. Cn{H:0O)n

P' 8 C(H00)n
C. CzHz0)n
D Cr(H:0)N

152. NADis an example of:
A. Mononucleotide
B. Dinuclectide
C. Tri nucleolide
D Tetranucleotide

153. Lock and Key Model for enzyme action proposed by Emil Fischer suggests that:
A. Enzymes are unbiased for the substrate

B, Enzymes can modify their active sités
C Enzymes are restricled lo one reaction type
D. Anenzyme can catalyze varely of reactions

154, Most enzymes have an optimum temperature of around:

A 30°C
B. 40°C
C 50°C
D. 20°C

155. Enzymes work by lowering the _—— °Tthe reactions they catalyse:
A. Kinetic energy yoo
B. Activalion energy
C. Heat energy
D. Potential energy

vone 19 af 24 06248
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156.

157.

158.

158.

160.

161.

162.

163.

First stable compound during Calvin Cyclo s:
A J-phasphoglycerate

B Glyceralaldehyde 3 — Phosphate

C. 1.3 bisphosphoglycerate

D Ribulose bisphosphate

What is the function of Ribulose?
A Intermediates in photosynthests

B Respiatory Fuel tion
C Intermediates in cellular respira

D Component of DNA and RNA
rocesses does NOT need Pyruvic Acid as a substrate?

Which of the following p
A.  Alcoholic fermentation
B Calvin cycle

C  Aerobic respiration

D. Lactic acid fermentation

Which of the following is a copper containing protein in electron transport chain?

A Plastoquinone  Not in KPK book

B. Cytochrome -C

C. Plastocyanin

D  Ferredoxin

In electron transport chain, ATP synthesis takes place when electrons move from:

Primary Elector Acceplor (PEA) to Plastoquinone (Pq)

A
Not in PTB

B. Plastoquinone (Pq) lo cytochromes
C Cytochrome to Plastocyanin (Pc)
D Plastocyanin (Pc) to Photosystem | (PS |)

“Law of independent assortment” states:
A That each pan of alleles assort independently of other pairs of alleles during gamets

formation
B That alleles of each pair of contrasling trait have unequal probability to assort with

the alleles of other pair
C Thatth |
at the two coexisting alleles for each trait segregate (separate) from each other at

D That pertain to Inhertance of Single trait (monohybrid cross)

Phenotype is:
A The genetic compleme
nt Ivi
B Partner of gene 1ac '€ the genes in an individual for a pParticular trait
C. The lorm of appearance ofay
D The position of d gene gn the 5,','0
mosome

In complete domlnance;

A Different alleles of ;
: 3] €ne 5
B One allele (R) is com ,“'e,'e both expressed In heletozygous condition

recessive allele g f,,, Yorp,
o1 hant over the othe
" ;r::veno'lvne as (RR) ho,n'(';z";‘”y hidden so the helrozyg;o‘tre, (‘;:?(: 'ﬂle Rieachiceofi
e phenotype of ““Y(ole o M has the sam nd
homozygotes He "EM02yg 01, IS it fiate b o
D Gene mulafiong * I8 Inlermediate between p}
May Phenotypes of the two
uce '"ﬂny different alleles of 4 gene

Nrr"AD
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W"i‘:h o’ne of the following is found In poth messenger RNA 344 OMA of &
: ammallan cell?

; Double helical structure

8 Ribose sugafl

c Thymine

p Suagar- phosphate backbone

5 The cells in our body are all genetically ;dcmlcal. apart from the:

A Somatic cells

B Reproductive cells
C  Muscle fibres

D Whie blood cells

156. Transcription is the process in which an RN:B::;;::‘::;:;:‘,?"A sequance and
coding the gene is produced with the help ofa
A. DNA polymerase
B. RNA polymerase
C_ DNA transcrplase
D. RNA transcrnptase

1467. The particular array of chromosomes that an individual possesses is called s

A Genotype :

B Phenotype Not in KPK book
C Karyotype

D. Alele

168. During meiosis, the homologous chromosomes come together and form pairs,
this process is called: ot in KPK book

A. Linkage
B Synapsis
C. Painng

D Crossing over ~1

169. At what phase the DNA content of a cellis doubled?
A Prophase . .
B Interphase Not in PMC syllabus Not in KPK book
C Anaphase
D Telophase

170. Which statement correctly describes the transcription of DNA?
A It produces amino acds
B. It produces messenger RNA
C. It results in increased DNA synthesis
D It s a semi conservative process

171. This theory says that “mitochondria and chloroplasts are.
bacteria which now live inside the larger cells™:
A Darwin's theory of evolution :
5 Camiiokiem not in PMC syllabus
C  Neo-danwinism
D Endosymbiont theory

in effect. ancient

72, The organs which are similar in function but differ in structure are called:
A Analogous organs
B Homologous organs
C Convergent evoluhion

D Divergent evolution 06248

rFage 23 01 23



Muhammad Usman Ilyas
Text Box
Not in PMC syllabus

Muhammad Usman Ilyas
Text Box
not in PMC syllabus

Muhammad Usman Ilyas
Text Box
Not in KPK book

Muhammad Usman Ilyas
Text Box
Not in KPK book

Muhammad Usman Ilyas
Text Box
Not in KPK book


173.

174.

175.

176.

177.

178.

179.

180.

181.

- "““"ﬂl ) Attt A Hrywo sume alieles a h""t
b

occurs bocau® 2 ""l%
survival than others: -
A Filness
B Evolution
C Crossing over
i slection
Ui (Rl and which now contains length of nuclen,

altere .
ns is ca"ﬂd a.

s !

The DNA that has bee

two different organism

A Plasmid

B Combined DNA

C Veclor

D Recombinant DNA S
o ar

It is a method for rapid producllotr']ot r STrBy ge number of copies of 3 particd

fragment of DNA:

A. Gel electrophoresis

B Polymerase chain reaction
C_ DNA extraction

D Recombination

What is the effect of enzyme DNA ligase?

A DNA is broken up at spectfic sites

B DNA fragments are jointed together

C DNA replication occurs

D DNA transcrniption occurs

Which of the following is the components / tools of recombinant DNA technoclcgy?

A  Gene of interest
B Molecular scissors
C Molecular glue and expression system

D. All of the above

,C\;ol Elnctrophorcsis Is a technique: Not in STB
re’:gggzg ?prféJ:)e’nS: :cnenhsl to assist in the identification of the individuals by thes
g g°gefé :"‘"1":3 gelf;ez ;ound In one complete set of chromosome
(piotEing. RNA or DN :)arate different sized fragment of charge bearing polymers
- S;:;?c ig‘,?;?"ocsg or a group of cells in a glass ware on artificial medium undef

;I\'nnsgonlc organisms:
B Sg:: :nlorengn 9ene inserted intg them
important rol :
C Are considered beneﬁz: the large scale production of medicinal products
D All of the above 1o humans

Which of the followin i

Ao W 918 not ne¢e a CR to occur?
B Prmers Notin S L "

C DNA fragments

D Ribonucleotides

The end product of g}

c
A Ethanol and Cmt?orl (::)yalg
B Lactate ..
C Pyruvate

D AcetylCoA
06248
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. g s not re Irus?
B 'h:y SUtvive for a shorn Hirrye ed 1o enveloped ¥
C '-. ' “Nvelope 1s senstive 0 %un NOt in PTB
D 3 =Y are tolerant to ANNLOW ey, haht

“Nvelopes 1s denved from nosy
Num

h of
€rous opportunistic discaney ttack 3 Perion auffgring from whic
the following discases? fnight 2

Measles

Influasnza
C  Hepatiis A
N AIDS

Venome Nt in STB

. Genome )
C Vinon Not in NBF
D Capsid

Which of the following is NOT TRUE apout Human lmmum:umr..;:i‘,m:y virus (HIV)?
A Itis aretrovirus

B Itis surrounded by an envelope

C It does not cause AIDS

D It causes deficiency of the human ymmune sySt€m

Select a method which causes the oxidation of chemical Constituent of 5 bacterial

cell: ;
A Staam Not in STB

B. Dryheat Notin KPK book

C. Filtration Not in NBF
D Radiation

Which of the following is TRUE about the structure of a typical bacterium?
A It has cell wall

B. It has cytoplasm

C It has genetic matenal

D All of the above

188. Red algae do not contribute towards:

A Making coral reels Not in STB
B. Forming imestone deposits Not in KPK book
C Making fertihzers Not in NBF

D Forming chalk deposits

189. Which of the following is TRUE about Amoebae?
A  They have flagella
B They are mulucellular

C They do nol cause any disease in humans
D They move by forming specialized Cyloplasmic projections called pseudopodia

9. The directional movement toward or away from the stimulus is called:

A  Tropism
B Orientation (THIS MCQ IS OUT OF PMC SYLLABUS...
C  Taxis THE QUESTION IS TAKEN FROM

D Non orientation CHAPTER : FORMS AND FUNCTIONS IN
PLANTS, TOPIC : PLANT MOVEMENTS...
WHICH IS NOT INCLUDED IN PROPOSED
SYLLABUS)
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e
191. Ph°'°Ph°5phorylation takes place in the of the chioroplasts:
A Stroma _
B Granum Confusing statement
C Inner membrane
D.  Outer membrane

192. Select an anamniote from the following:
A. Snake (IN PMC SYLLABUS, GENERAL CHARACTERISTICS OF ANIMALS WERE INCLUDED WHICH ONLY
B. Parrot COVER FIRST 3 TO 4 PAGES OF CHAPTER "CHARACTERS AND DIVERSITY AMONG ANIMALS..
WHILE THIS QUESTION IS TAKEN FROM SPECIFIC CHARACTERS OF REPTILES FROM LAST

C. Freg
5 CrododiQPICS OF THE GIVEN CHAPTER)
r is disrupted when water reaches:

In roots the, apoplast pathway of wale

193.
A Plasmodesmala
B. Endodermis
C Corex
D. Pith
194. Regarding structure of the human heart, Chordae tendinae are present in:
A Atria
B. Pulmonary valve
C. Venlricles
D. Aortic valve
195. The only vein in the human body carrying oxygenated blood is:
A Femoral
B Pulmonary
C Renal
D lliac
196. The cells which play very important role in developing immunity are :
A. Mcnocyles
B Neulrophlls
C Lymphacytes
D. Thrombocyles
197. Which of the following blood vessels have the highest pressure of blood?
A Aorta
B. Pulmonary arteries
C. Pulmonary veins
D. VenaCava
198. Autcimmune diseases act at the principle of:
A. Self against anligens
B. Antigen against self notin PTB
C Self agamnst self Not in STB
D. Anligen self-destroyed
199. In human heart, the left atrium receives:
A The superior Vena Cava
B. The inlenor Vena Cava
C The coronary sinus
D The four pulmonary veins
200. Antibodies are manufactured in:

A T Lymphocytes
B Red Blood Cells

C Pilatelels
06248
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